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7UHJ7QR! W;kL

A =

4 -1 0 0 0

-1 4 -1 0 0

0 -1 4 -1 0

0 0 -1 4 -1

0 0 0 -1 4

epsilon = 1.000e-015

|A(n,n)|<epsilon HJC?i$QR!?|r_a deflationrT&%

step 50

A =

5.7320 -0.0014 -0.0000 -0.0000 0.0000

-0.0014 5.0000 -0.0000 0.0000 -0.0000

0 -0.0000 4.0000 -0.0000 0.0000

0 0 -0.0000 3.0000 -0.0000

0 0 0 -0.0000 2.2679

step 100

A =

5.7321 -0.0000 -0.0000 -0.0000 0.0000

-0.0000 5.0000 -0.0000 0.0000 -0.0000

0 -0.0000 4.0000 -0.0000 0.0000

0 0 -0.0000 3.0000 -0.0000

0 0 0 -0.0000 2.2679

step 125

deflation n=5 to 4

step 126

deflation n=4 to 3

step 130

A =

5.7321 -0.0000 0.0000
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-0.0000 5.0000 0.0000

0 0.0000 4.0000

step 160

A =

5.7321 -0.0000 0.0000

-0.0000 5.0000 0.0000

0 0.0000 4.0000

step 165

deflation n=3 to 2

step 170

A =

5.7321 -0.0000

-0.0000 5.0000

step 200

A =

5.7321 -0.0000

-0.0000 5.0000

step 250

A =

5.7321 -0.0000

-0.0000 5.0000

step 260

deflation n=2 to 1

G-MJW;MK

5.732050807568872e+000 5.000000000000000e+000 3.999999999999990e+000

3.000000000000000e+000 2.267949192431125e+000

G-MJ7)MK

2.267949192431123e+000 3.000000000000000e+000 4.000000000000000e+000

5.000000000000000e+000 5.732050807568877e+000

7UHU-QR! (1) 7UHO&<Ts.,rQ$?%

W;kL

A =

4 -1 0 0 0

-1 4 -1 0 0

0 -1 4 -1 0

0 0 -1 4 -1

0 0 0 -1 4

epsilon = 1.000e-015

|A(n,n)|<epsilon HJC?i$QR!?|r_a deflationrT&%
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step 1

shift = 4.000000

A =

4.0000 1.4142 0 0.0000 0

1.4142 4.0000 0.7071 0 0

0 0.7071 4.0000 1.2247 0.0000

0 0 1.2247 4.0000 0

0 0 0 0 4.0000

step 5

shift = 4.000000

A =

4.0000 1.7250 0 0.0000

1.7250 4.0000 0.1273 -0.0000

0 0.1273 4.0000 1.0041

0 0 1.0041 4.0000

step 6

shift = 4.000000

A =

4.0000 -1.7297 -0.0000 -0.0000

-1.7297 4.0000 -0.0739 0.0000

0 -0.0739 4.0000 1.0014

0 0 1.0014 4.0000

z (4,3).,hjhK (3,2).,,:j7Oa?*)

step 20

shift = 4.000000

A =

4.0000 -1.7321 -0.0000 -0.0000

-1.7321 4.0000 -0.0000 0.0000

0 -0.0000 4.0000 1.0000

0 0 1.0000 4.0000

z 2_ 2.TsrBY?VmC/PQTsKJCF7^C?%

step 34

shift = 3.993227

A =

4.0203 -1.7319 -0.0000 -0.0000

-1.7319 3.9797 -0.0000 0.0000

0 -0.0000 4.0203 0.9998

0 0 0.9998 3.9797

zh&d/ (4,3K.,,:j7Oa?%
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step 35

shift = 3.979684

A =

4.0609 1.7310 -0.0000 0.0000

1.7310 3.9391 0.0000 -0.0000

0 0.0000 4.0609 0.9981

0 0 0.9981 3.9391

step 40

shift = 3.000103

A =

5.7284 -0.1129 -0.0000 -0.0000

-0.1129 2.2716 -0.0000 0.0000

0 -0.0000 5.0000 0.0000

0 0 0.0000 3.0000

step 41

shift = 3.000000

A =

5.7318 0.0303 -0.0000 0.0000

0.0303 2.2682 0.0000 0.0000

0 0.0000 5.0000 0.0000

0 0 0.0000 3.0000

step 42

deflation n=4 to 3

shift = 5.000000

A =

5.7284 -0.1129 0.0000

-0.1129 2.2716 0.0000

0 0.0000 5.0000

step 43

deflation n=3 to 2

shift = 2.271635

A =

5.7321 -0.0001

-0.0001 2.2679

step 44

shift = 2.267949

A =

5.7321 -0.0000

-0.0000 2.2679
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step 45

shift = 2.267949

A =

5.7321 0.0000

-0.0000 2.2679

step 46

deflation n=2 to 1

G-MJW;MK

5.732050807568882e+000 2.267949192431123e+000 5.000000000000000e+000

3.000000000000000e+000 4.000000000000000e+000

G-MJ7)MK

2.267949192431123e+000 3.000000000000000e+000 4.000000000000000e+000

5.000000000000000e+000 5.732050807568877e+000

7UHU-QR! (2) 7UHOWilkinson7UHrQ$?%

W;kL

A =

4 -1 0 0 0

-1 4 -1 0 0

0 -1 4 -1 0

0 0 -1 4 -1

0 0 0 -1 4

epsilon = 1.000e-015

|A(n,n)|<epsilon HJC?i$QR!?|r_a deflationrT&%

step 1

shift = 5.000000

A =

3.0000 0.7071 0 -0.0000 -0.0000

0.7071 4.0000 1.2247 -0.0000 -0.0000

0 1.2247 4.3333 -0.9428 -0.0000

0 0 -0.9428 3.6667 -0.0000

0 0 0 0 5.0000

step 2

deflation n=5 to 4

shift = 3.000000

A =

4.0000 -1.4142 0.0000 0.0000

-1.4142 4.0000 -1.0000 -0.0000

0 -1.0000 4.0000 0.0000

0 0 0.0000 3.0000

step 3
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deflation n=4 to 3

shift = 5.000000

A =

2.6667 0.9428 0.0000

0.9428 4.8333 -0.8660

0 -0.8660 4.5000

step 7

shift = 4.000000

A =

2.6385 1.0707 0.0000

1.0707 5.3615 0.0000

0 0.0000 4.0000

step 8

deflation n=3 to 2

shift = 5.732051

A =

2.2679 -0.0000

-0.0000 5.7321

step 9

deflation n=2 to 1

G-MJW;MK

2.267949192431123e+000 5.732050807568878e+000 4.000000000000000e+000

3.000000000000000e+000 5.000000000000000e+000

G-MJ7)MK

2.267949192431123e+000 3.000000000000000e+000 4.000000000000000e+000

5.000000000000000e+000 5.732050807568877e+000

W9kK$QR!O7UHNE}G}+N.5,r3HQokNG"k%
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